Table for the calculation of bending moments in uniformly-loaded rectangular panels supported on

four sides with provision against torsion at corners.
Values in the table were calculated using theplastic Yield Line Theory.
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Span ly is ALWAYS the longer span (i.e. Ix < ly must be satisfied).

Bending moments can be calculated using the following equations:

Mye = PreMy,
Mym = ﬁxmmOI
mye = ﬁyemﬂi

Mym = )Gymmt}i

where B is a coefficient from the table below.

i
my = faly,

where fd is the total area load of the slab.

[, isthe shorter span.
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